

- 3 -

No:- 3283  
HP Forest Department

Dated Bilaspur, the 13/7/2020

From: Divisional Forest Officer,  
Bilaspur Forest Division,  
District Bilaspur, HP

To: Sub Divisional Police Officer,  
Shri Naina Devi Ji  
Distt. Bilaspur, HP

Subject: Diversion of 0.0663 hectare of forest land in favour of Police Department for c/o New building office of SDPO, Shri Naina Devi Ji within the jurisdiction of Bilaspur Forest Division.

Sir,

Please refer to Nodal Officer (FCA) letter Endst. No. Ft.48-3688/2017 (FCA) dated 26.7.2020 on the subject cited above.

2. The "in-principal" approval has been granted by the GoI vide letter No. 8B/HP/09/88/2019/FC/174 dated 22.5.2020 copy received through Nodal Officer (FCA) vide his endst. referred to above. Keeping in view of this, the amount of compensatory levies in respect of the proposal mentioned above may be deposited in the following manner:-

I	Amount required to be deposited in Adhoc-CAMPA Account being maintained by Govt. of India	Amount (in Rs.)
"(a)	Cost of Compensatory Afforestation (excluding 17.5% Deptt. Charges)	71015
"(b)	Cost of Additional Compensatory Afforestation (excluding 17.5% Departmental Charges)	0
"(c)	Cost of Penal Compensatory Afforestation (excluding 17.5% Departmental Charges)	0
"(d)	Cost of Catchment Area Treatment Plan	0
"(e)	Cost of Wildlife Management Plan	0
"(f)	Net Present Value	57000
"(g)	Penalty for violation equal to the NPV per year for 5 years plus 12% simple interest till the deposit is made along with 20% penalty of above	0
"(h)	Cost of implementing the scheme for Safety Zone Area in respect of mining cases	0
"(i)	Cost of implementing phased Reclamation Plan of muck dumping site (excluding 17.5% Departmental Charges)	0
"(j)	25% of CA cost towards Soil & Moisture Conservation	0
"(k)	Other Charges, if any (specify): 5% Contingencies on C.A.	3551
"(l)	Other Charges, if any (specify): 5% Contingencies on Reclamation plan of dumping site.	0
"(m)	Other Charges, if any (specify): Contingencies on PCA	0
	<b>Total</b>	<b>131566</b>
II	<b>AMOUNT REQUIRED TO BE DEPOSITED IN THE STATE GOVT. TREASURY</b>	
"(a)	Cost of Trees	119726
"(b)	Departmental Charges on C.A. @ 17.5% of cost of C.A.	13049

"(c)	Departmental Charges on a/c of Reclamation plan @ 17.5%	0
"(d)	Departmental Charges on a/c of PCA @ 17.5%	0
"(e)	Departmental Charges on a/c 25% C.A. cost towards Soil & Moisture Conservation @17.5%	0
"(f)	Value & Compensation on a/c of violation of FCA, 1980	0
	<b>Total</b>	<b>132775</b>
"III	<b>Taxes</b>	
	GST @ 18% on cost of F/Posts & B/Wire	1222
	I/tax on value of trees @ 2.85%	3412
	Edu cess on I/Tax	34
	<b>Total taxes</b>	<b>4668</b>
	<b>G. Total (i/c taxes)</b>	<b>269009</b>

\*Write NA where Not applicable.

The compensatory levies mentioned above may be deposited strictly in accordance with the following guidelines:

**FOR AMOUNT(S) MENTIONED AT 2(I) TO BE DEPOSITED IN ADHOC-CAMPA**

(A) **ACCOUNT**

The payment to be deposited under CAMPA after generating challan through FC portal <http://forestsclearance.nic.in> and you should have submit the above mentioned challan in the bank while depositing the funds. The manual/steps to generate the online challan can be downloaded from the FC portal <http://forestsclearance.nic.in> under menu "Support→ Steps for generating challan for making payment for Stage-II clearance". No other mode of payment will be accepted.

*"User agencies should proceed to start the process of uploading of demand letter, verification of demand & generation of challan only when they are in position to make payment immediately in any case not later than 10 days"*

Note:

(B) **FOR AMOUNT(S) MENTIONED AT 2(II) TO BE DEPOSITED IN STATE GOVT.**

- i) Amounts due towards Cost of Trees, Departmental Charges on C.A. @17.5% of cost of C.A. may be deposited in this office through cheque/DD in favour of Divisional Forest Officer, Bilaspur Forest Division, Distt. Bilaspur HP payable at Bilaspur, H.P.
- ii) The amounts due towards taxes i.e. GST & Income Tax may also be deposited in this office through cheque/DD in favour of Divisional Forest Officer, Bilaspur Forest Division, Distt. Bilaspur HP payable at Bilaspur, H.P.

It is therefore, requested that the above levies may be deposited in accordance to the instructions contained on the subject matter and also submit point-wise compliance to the other stipulations/conditions imposed in 'in-principal' approval so that further action is taken accordingly.

Yours faithfully,

Divisional Forest Officer,  
Divisional Forest Officer,  
Bilaspur Forest Division,  
Distt. Bilaspur (H.P.)

office of HP state compensatory Afforestation Fund Management & Planning Authority  
(HP State CAMPA), Aranya-Bhawan, Talland, Shimla- 171001.

Cost Modal for 1 Ha Block Plantation with 500 Tall Plants Per Ha.  
4 strand B/ wire with RCC Fencing Posts and maintenance for 10 years  
( based on a 5 Ha compact site of plantation)

Sr. No.	Particulars Of Works	Unit	Quantity	Rate per unit at the wage rate of 200/-	Norm at the wage rate of 200/- for non-Tribal areas
<b>4</b>	<b>SURVEY, DEMACATION &amp; FENCING:-</b>				
1	Survey, demarcation of Plantation Area i/c marketing of section	Ha	1	134.66	134.66
2	Cost of RCC Poles and painting	No	60	300.00	18000.00
3	Cost of carriage of RCC Poles upto 2 Kms uphill/downhill	No	60	44.67	2680.20
4	Preparation / Digging of holes of 20X30x50 cm size for fixing of fence	No	60	12.08	724.80
5	Fixing of RCC fence posts in concrete i/c strutting	No	60	9.55	573.00
6	Carriage of B/Wire from store to nearest road head near plantation site in motor transport (average carriage 10 kms)	Qntl	0.9	LS	500.00
7	Carriage of B/Wire manually over a distance of 2 kms uphill/downhill from road side to plantation site	Per Km Per qntl	0.9	98.20	176.76
8	Stretching and fixing of b/wire in four stands	Rmt	720	6.40	4608.00
9	Interlacing of thorny bushes along the fence	Rmt	180	5.45	981.00
10	Cost of procurement of B/wire	Qntl	0.9	6930.00	6237.00
	<b>Total -A / Survey, Demarcation &amp; Fencing:</b>				<b>34615.42</b>
	<b>Or Say</b>				<b>34600.00</b>
<b>B</b>	<b>PLANTING:-</b>				
1	Clearing the site of weeds / Bush Cutting in Strips of 1 to 2 mtr wide	Ha	1	1590.36	1590.36
2	Digging of pits 90X90X90 cms	No	500	83.17	41585.63
3	Filling of pits 90X90X90 cms	No	500	7.08	3539.91
4	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No	500	LS	7500.00
5	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No	500	30.00	15000.00
6	Addition of fertilizer / FYM to planting pits	No	500	LS	5000.00
7	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	500	8.72	4359.89

8	Construction of Inspection Path 60cm wide	Rmt	100	14.67	1466.63
9	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	500	75.00	37500.00
10	De- weeding and hoeing twice a year	No	500	10.91	10906.39
11	Watering the plants during months of stress	No	500	LS	4000.00
12	Plantation Display Board [depicting the name of the Compensatory Plantation, Total Area of Plantation, Total number of Plants, Species planted and the name of all the Proposals with corresponding number of plants planted against each, for which the land was diverted]	No	1	LS	1000.00
<b>Total - B/ Planting:</b>					<b>133448.9</b>
<b>C</b>	<b>Or Say</b>				
<b>Total Fencing and Planting (A+B)</b>					<b>13340' J0</b>
<b>MAINTENANCE</b>					<b>168000.00</b>
<b>1st year maintenance (10% beating up of failures)</b>					
1	Re - Digging of pits 90X90X90 cms	No	50	49.89	2494.50
2	Filling of pits 90X90X90 cms	No	50	7.08	353.99
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No	50	LS	750.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No	50	30.00	1500.00
5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	50	8.72	435.99
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	50	75.00	3750.00
7	Repair of fencing	Rmt	72	2.40	172.80
<b>Total 1st year maintenance</b>					<b>9457.28</b>
<b>Or Say</b>					
<b>2nd year maintenance (5% beating up of failures)</b>					<b>9500.00</b>
1	Re - Digging of pits 90X90X90 cms	No	25	49.89	1247.25
2	Filling of pits 90X90X90 cms	No	25	7.08	177.00
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No	25	14.00	350.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No	25	30.00	750.00

5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	25	8.72	218.00
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	25	75.00	1875.00
7	Repair of fencing	Rmt	72	2.40	172.80
	<b>Total 2nd year maintenance</b>				<b>4790.05</b>
	<b>Or Say</b>				<b>4800.00</b>
1	<b>3rd year maintenance (5% beating up of failures)</b>				
1	Re - Digging of pits 90X90X90 cms	No	25	49.89	1247.25
2	Filling of pits 90X90X90 cms	No	25	7.08	177.00
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No	25	14.00	350.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No	25	30.00	750.00
5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	25	8.72	218.00
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	25	75.00	1875.00
7	Repair of fencing	Rmt	72	2.40	172.80
	<b>Total 3rd year maintenance</b>				<b>4790.05</b>
	<b>Or Say</b>				<b>4800.00</b>
1	<b>4th year maintenance (3% beating up of failures)</b>				
1	Re - Digging of pits 90X90X90 cms	No	15	49.89	748.35
2	Filling of pits 90X90X90 cms	No	15	7.08	106.20
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No	15	LS	210.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No	15	30.00	450.00
5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	15	8.72	130.80
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	15	75.00	1125.00
7	Repair of fencing	Rmt	72	2.40	172.80
	<b>Total 4th year maintenance</b>				<b>2943.15</b>
	<b>Or Say</b>				<b>2900.00</b>

<b>5th year maintenance (3% beating up of failures)</b>						
1	Re - Digging of pits 90X90X90 cms	No		15	49.89	748.35
2	Filling of pits 90X90X90 cms	No		15	7.08	106.20
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No		15	LS	210.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No		15	30.00	450.00
5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No		15	8.72	130.80
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No		15	75.00	1125.00
7	Repair of fencing	Rmt		72	2.40	172.80
<b>Total 5th year maintenance</b>						
Or Say						
<b>6th year maintenance (2% beating up of failures)</b>						
1	Re - Digging of pits 90X90X90 cms	No		10	49.89	498.90
2	Filling of pits 90X90X90 cms	No		10	7.08	70.80
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No		10	LS	140.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No		10	30.00	300.00
5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No		10	8.72	87.20
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No		10	75.00	750.00
7	Repair of fencing	Rmt		72	2.40	172.80
<b>Total 6th year maintenance</b>						
Or Say						
<b>7th year maintenance (2% beating up of failures)</b>						
1	Re - Digging of pits 90X90X90 cms	No		10	49.89	498.90
2	Filling of pits 90X90X90 cms	No		10	7.08	70.80
3	Carriage of poly plants from nursery to nearest road head near plantation site in motor transport (average distance 10 kms)	No		10	LS	140.00
4	Carriage of poly plants in poly bags ( 18" X 24" ) from road side to plantation site over a distance of 2 Kms uphill / downhill manually	No		10	30.00	300.00

5	Planting of tall plants in pits i/c ramming shall be carried out with a 40% mix of fruit trees	No	10	8.72	87.20
6	Cost of tall plants raised in Departmental Nurseries (3 year old in 18" X24" bags)	No	10	75.00	750.00
7	Repair of fencing	Rmt	72	2.40	172.80
	<b>Total 7th year maintenance</b>				<b>2019.70</b>
	Or Say				<b>2000.00</b>
	<b>8th to 10th year maintenance</b>		<b>3</b>	<b>2000.00</b>	<b>6000.00</b>
	<b>Total (C) Maintenance cost for 10 years</b>				<b>34900.00</b>
<b>D</b>	<b>TOTAL NEW + MAINTENANCE D = (A+B+C)</b>				<b>202900.00</b>
<b>E</b>	<b>Contingency</b>				
	Contingency 5% of all above				10145.00
	<b>TOTAL Contingency (E)</b>				<b>10145.00</b>
	<b>Total Plantation + Contingency (D+E)</b>				<b>213045.00</b>
<b>F</b>	<b>Departmental Charges</b>				
	17.5% of all above				37282.88
	<b>Total Departmental Charges (F)</b>				<b>37283</b>
	<b>GRAND TOTAL OF SCHEME (D+E+F)</b>				<b>250328</b>
	Or Say				<b>250350.00</b>

Total expenditure required for raising of CA over an area of 0.28 hac. in UPF Durgat of Kalol Range for block plantation with 500 tall plants with 4 strand B/wire with RCC Fencing including 7 years maintenance in lieu of area proposed for diversion for Construction of New Building of office of Sub-Divisional Police officer, Shree Naina Devi Ji in Bilaspur Forest Division.

1	Forest land proposed for diversion	0.0663 hac			
2	Total trees involved in the proposal	14 trees			
3	No. of plants to be planted i.e. ten times of trees involved in the proposal = 140 (CA area to be planted 0.28 ha. as per norm of 500 plants/ha.				
	<b>Particular of cost</b>	<b>Rate per ha.</b>	<b>Area in ha.</b>	<b>Total amount</b>	

Sr. No.	Fencing & Plantation	168000	0.28	47040
1	1st year maintenance cost	9500	0.28	2660
2	2nd year maintenance cost	4800	0.28	1344
3	3rd year maintenance cost	4800	0.28	1344
4	4th year maintenance cost	2900	0.28	812
5	5th year maintenance cost	2900	0.28	812
6	6th year maintenance cost	2000	0.28	560
7	7th year maintenance cost	2000	0.28	560
8	8th year maintenance cost	2000	0.28	560
9	9th year maintenance cost	2000	0.28	560
10	10th year maintenance cost	2000	0.28	560
11	<b>Total (New +Maintenance)</b>	<b>202900</b>	<b>0.28</b>	<b>56812</b>
12	25% increase due to escalation in wage rates etc.			14203
	<b>Total</b>			<b>71015</b>
13	<b>Contingency</b>			
	Contingency 5% of all above			3551
	<b>TOTAL Contingency (E)</b>			<b>3551</b>
	<b>Total Plantation + Contingency</b>			<b>74566</b>
14	<b>Departmental Charges</b>			
	17.5% of all above			13049
	<b>Total Departmental Charges</b>			<b>13049</b>
	<b>Total {New+Maint+25% increase+Contingency+Departmental charges}</b>			<b>87615</b>
15	GST @ 18% on the cost of F/Posts & B/Wire			1222
	<b>Grand Total of CA including Taxes</b>			<b>88837</b>

*Approved*  
 C. P. Bilaspur  
 Forest Circle Bilaspur (H.P.)

Divisional Forest Officer  
 Forest Division, Bilaspur  
 Distt. Bilaspur (H.P.)

भारत सरकार  
 पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय  
 क्षेत्रीय कार्यालय (उत्तर-मध्य क्षेत्र)  
 25 सुभाश रोड, देहरादून-248001  
 दूरभाष: 0135-2650809  
 फैक्स-0135-2653010  
 ईमेल - [moef.ddn@gov.in](mailto:moef.ddn@gov.in)



GOVERNMENT OF INDIA  
 MINISTRY OF ENVIRONMENT, FOREST AND CLIMATE CHANGE  
 REGIONAL OFFICE, (NORTH CENTRAL)  
 25 SUBHASH ROAD, DEHRADUN-248001  
 PHONE- 0135-2650809  
 FAX- 0135-2653010  
 Email- [moef.ddn@gov.in](mailto:moef.ddn@gov.in)

पत्र सं०. 8बी/एच.पी./09/88/2019/एफ.सी./174

दिनांक: 22/05/2019

सवा में,  
 अतिरिक्त मुख्य सचिव (वन)  
 हिमाचल प्रदेश सरकार,  
 आसर्मंडेल बिल्डिंग, शिमला।

विषय : Diversion of 0.0663 ha of forest land in favour of HP Police Department for the construction of New building Office of the Sub Divisional Police Officer Shri Naina Devi Ji, within jurisdiction of Bilaspur Forest Division, Distt. Bilaspur, Himachal Pradesh.

सन्दर्भ : नोडल अधिकारी एवं मुख्य वन संरक्षक (एफ.सी.ए.), हिमाचल प्रदेश का पत्र संख्या एफ. 48-3689/2017 (एफ.सी.ए.) दिनांक 15.06.2019

महोदय,

उपरोक्त विषय पर ऑनलाइन प्रस्ताव संख्या FP/HP/OTHERS/30416/2017 तथा नोडल अधिकारी एवम् मुख्य वन संरक्षक (एफ.सी.ए.), हि0प्र0 के संदर्भित पत्र का अवलोकन करने का कष्ट करें जिसके द्वारा विषयांकित प्रस्ताव केन्द्र सरकार से वन (संरक्षण) अधिनियम, 1980 की धारा-2 के तहत स्वीकृति मांगी थी।

प्रश्नगत प्रकरण में इस कार्यालय द्वारा समय-समय पर अतिरिक्त सूचनाये चाही गयी थी, जिसकी अतिरिक्त अनुपालना नोडल अधिकारी एवं अपर प्रमुख मुख्य वन संरक्षक (एफ.सी.ए.), हि0प्र0 के समसंख्यक पत्र दिनांक 15.05.2019 द्वारा प्रेषित कर दी गई है। प्रस्ताव पर ध्यानपूर्वक विचार करने के उपरांत केन्द्र सरकार Diversion of 0.0663 ha of forest land in favour of HP Police Department for the construction of New building Office of the Sub Divisional Police Officer Shri Naina Devi Ji, within the jurisdiction of Bilaspur Forest Division, Distt. Bilaspur, Himachal Pradesh हेतु सैद्धान्तिक स्वीकृति निम्नलिखित शर्तों पर प्रदान करती है:-

1. वन भूमि की विधिक स्थिति अपरिवर्तित रहेगी।
2. परियोजना के लिए आवश्यक गैर वन भूमि प्रयोक्ता अभिकरण को सौंपे जाने के बाद ही वन भूमि सौंपी जाएगी।
3. प्रतिपूरक वनीकरण:  
 क) प्रयोक्ता अभिकरण द्वारा 140 पौधों का रोपण कार्य प्रस्ताव के अनुसार दी गयी वनाच्छादित वन भूमि UI Durghat में किया जाएगा एवं दस वर्षों तक रखरखाव हेतु आवश्यक धनराशि (वर्तमान दरों को समाहित किये यथासंशोधित) जमा की जायेगी जहां तक व्यावहारिक हो, स्थानीय स्वदेशी प्रजातियों को लगाया जाए तथा प्रजातियों की एकल कृषि से बचें।  
 ख) राज्य सरकार plantation हेतु चयनित क्षेत्र का सही खसरा संख्या/उपखण्ड संख्या इस कार्यालय को प्रस्तुत करेगी।
4. प्रतिपूरक वनीकरण की भूमि पर, यदि आवश्यक हो, तो प्रतिपूरक वनीकरण योजना के अनुसार प्रचलित मजदूरी दरों पर प्रतिपूरक वनीकरण की लागत एवं सर्वेक्षण, सीमांकन और स्तंभन की लागत परियोजना प्राधिकरण द्वारा अग्रिम रूप से वन विभाग के पास जमा की जाएगी। प्रतिपूरक वनीकरण 10 वर्षों तक अनुरक्षित किया जाएगा। योजना में भविष्य में निर्धारित कार्यों के लिए प्रत्याशित लागत वृद्धि हेतु उपयुक्त प्रावधान शामिल किए जा सकते हैं।
5. शुद्ध वर्तमान मूल्य  
 (क) इस संबंध में भारत के माननीय सर्वोच्च न्यायालय के WP (C) संख्या: 202/1995 में IA नंबर 556 दिनांक 30.08.2002, 01.08.2003, 28.03.2008, 24.04.2008 एवं 09.05.2008 तथा मंत्रालय द्वारा पत्रांक 5-1/1998-एफ.सी. (C) 2 दिनांक 18.09.2003, 5-2/2006-एफ.सी. दिनांक 03.10.2006 एवं 5-3/2007-एफ.सी. दिनांक 05.02.2009 जारी दिशानिर्देशानुसार राज्य सरकार प्रयोक्ता अभिकरण से इस प्रस्ताव के तहत 0.0663 हे0 वन क्षेत्र प्रत्यावर्तन के लिए शुद्ध वर्तमान मूल्य वसूल करेगी।  
 (ख) विशेषज्ञ समिति से रिपोर्ट प्राप्त होने पर माननीय सर्वोच्च न्यायालय द्वारा प्रत्यावर्तित वन भूमि के शुद्ध वर्तमान मूल्य अतिरिक्त राशि, यदि कोई हो, जो अंतिम रूप देने के बाद देय हो, को राज्य सरकार द्वारा प्रयोक्ता अभिकरण से वसूल जाएगा। प्रयोक्ता अभिकरण इसका एक शपथपत्र प्रस्तुत करेगा।

- 6
6. प्रयोक्ता अभिकरण प्रस्तावित क्षेत्र के आस पास रिक्त पड़े स्थानों पर अधिक से अधिक वृक्षों को रोपित कर Greenery maintain करने के बाबत undertaking प्रस्तुत करेगी।
  7. State Govt. will ensure that the proposed building will not be used for residential purpose.
  8. माननीय उच्चतम न्यायालय, नई दिल्ली द्वारा I A No. 3840 in WP (c) No. 202/1995 में वर्तमान में एफ. सी.ए. के तहत भूमि के प्रत्यावर्तन पर रोक लगाई गई है। अतः राज्य सरकार मा. उच्चतम न्यायालय, नई दिल्ली द्वारा इस निर्णय लिये जाने के उपरान्त ही तदनुसार अपने स्तर पर वन भूमि के प्रत्यावर्तन हेतु जारी किए जाने वाले स्वीकृति आदेश जारी करेगी।
  9. प्रयोक्ता अभिकरण प्रत्यावर्तित वन भूमि न पेड़ों की कटाई को न्यूनतम रखेगा जिनकी सं० प्रस्ताव के अनुसार 14 पेड़ों से अधिक नहीं होगी एवं पेड़ राज्य वन विभाग के सख्त पर्यवेक्षण में कटेंगे। प्रयोक्ता अभिकरण द्वारा राज्य वन विभाग के पास पेड़ों की कटाई की लागत जमा की जाएगी।
  10. परियोजना के तहत प्रयोक्ता अभिकरण से प्राप्त धन केवल ई-पोर्टल (<https://parivesh-nic-in/>) के माध्यम से क्षतिपूर्क वनीकरण कोष प्रबंधन और योजना प्राधिकरण फंड में स्थानांतरित/ जमा किए जाएंगे।
  11. एफआरए, 2006 का पूर्ण अनुपालन संबंधित जिला कलेक्टर से निर्धारित प्रमाण पत्र के माध्यम से सुनिश्चित किया जाएगा।
  12. पर्यावरण (संरक्षण) अधिनियम, 1986 के प्रावधानों के अनुसार, प्रयोक्ता अभिकरण पर्यावरणीय स्वीकृति प्राप्त करेगा।
  13. केंद्र सरकार की पूर्वानुमति के बिना प्रस्ताव का ले-आउट प्लान नहीं बदला जाएगा।
  14. वन भूमि पर कोई भी श्रमिक शिविर स्थापित नहीं किया जाएगा।
  15. प्रयोक्ता अभिकरण द्वारा मजदूरों को राज्यीय वन विभाग अथवा वन विकास निगम अथवा वैकल्पिक ईंधन के किसी अन्य कानूनी स्रोत से पर्याप्त लकड़ी, विशेषतः वैकल्पिक ईंधन दिया जाएगा।
  16. संबंधित प्रभागीय वनाधिकारी के निर्देशानुसार, प्रत्यावर्तित वन भूमि की सीमा को परियोजना लागत पर भूमि पर सीमांकन किया जाएगा।
  17. इस अनुमोदन में प्रत्यावर्तन की अवधि को प्रयोक्ता अभिकरण के पक्ष में मिली लीज की अवधि के साथ अथवा परियोजना की पूर्ण अवधि के साथ, जो भी कम हो, लक्षित किया जाएगा।
  18. वन भूमि का उपयोग परियोजना के प्रस्ताव में विनिर्दिष्ट प्रयोजनों के अतिरिक्त अन्य किसी प्रयोजन हेतु नहीं किया जाएगा।
  19. केंद्र सरकार की पूर्वानुमति के बिना प्रत्यावर्तन हेतु प्रस्तावित वन भूमि किसी भी परिस्थिति में किसी भी अन्य एजेंसियों, विभाग अथवा व्यक्ति को हस्तांतरित नहीं की जाएगी।
  20. इनमें से किसी भी शर्त का उल्लंघन वन (संरक्षण) अधिनियम, 1980 का उल्लंघन होगा एवं पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय के दिशानिर्देश फाइल संख्या 11-42/2017-FC दिनांक 29.01.2018 के अनुसार उस पर कार्रवाई होगी।
  21. पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय द्वारा वन एवं वन्यजीवों के संरक्षण व विकास के हित में समय-समय पर निर्धारित शर्तें लागू होंगी।
  22. अनुपालना रिपोर्ट ई-पोर्टल (<https://parivesh.nic-in/>) पर अपलोड की जाएगी।

भवदीय,

(डा० योगेश गैरोला)  
तकनीकी अधिकारी

प्रतिलिपि सूचनार्थ एवं आवश्यक कार्यवाही हेतु प्रेषित:

1. अपर वन महानिदेशक (एफ०सी०), पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय, इन्दिरा पर्यावरण भवन, जोरबाग रोड, अलीगंज, नई दिल्ली।
2. नोडल अधिकारी एवं मुख्य वन संरक्षक (एफ.सी.ए.) हिमाचल प्रदेश सरकार, वन विभाग, टालैंड, शिमला।
3. आदेश पत्रावली।

1/1/20

DRCC (PCA)  
24/1/20

(डा० योगेश गैरोला)  
तकनीकी अधिकारी

2020, Oct 11

Endst.No.Ft.48-3688/2017 (FCA) Dated Shimla-171001, the

Copy is forwarded to the following for information and necessary action:-

1. CCF Bilaspur.
2. DFO Bilaspur.
3. Sub-Divisional Police Officer, Shri Naina Devi Ji, Distt. Bilaspur, H.P.

GoI has developed an e-payment module of forest clearance portal for online remittance of compensatory levies. Therefore, from 15<sup>th</sup> October, 2015 onwards, all the deposit of compensatory levies viz cost of CA including Penal CA, Contingency charges on CA, NPV & CAT Plan etc. shall be done only through the e-payment i.e. online challan mode. Offline payments through RTGS/NEFT shall not be accepted at all. The departmental charges on CA and cost of trees may be deposited in Govt. treasury.

These instructions may be kept in view at the time of realizing the compensatory levies.

*Prasad* 25/10/2020  
Nodal Officer cum-APCCF (FCA)  
O/o Pr.CCF,(HoFF),H.P.